MATH 421.03 ADVANCED CALCULUS FOR
ENGINEERING. SPRING 2014. QUIZ 1

1. (75 points)
a) Find given Laplace transforms
L{(t - 1)%);
L{e? cos 3t};
L{U(t - 1)e*}.
b)Give the formula representing £{e® f} through Lf and prove it.
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2. (75 points) Find given inverse Laplace transforms
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3. (50 points) Solve given initial-value problem using the Laplace transform
y” = y/ = 2tey(0) = l,y’(O) =1 '
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1. (75 points)
a) Find given Laplace transforms
L{(1 - €)%}
Ele = L
L{U(t — 2) sin 2t}.
b)Give the formula representing £ f’ through Lf and prove it.
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2. (75 points) Find given inverse transforms ' _ok
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3. (50 points) Solve given initial-value problem using the Laplace transform

y' — 2y = €%, y(0) = 2
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